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QUESTION 1
Refer to the exhibit.

- WA

type=

riment-1.dummytracker.org” profile=

url= “https://e xperiment-1.dumytra
‘outgoing” m
= “"Maliciou

Based on the raw log, which two statements are correct? (Choose two.)
A. Traffic is blocked because Action is set to DENY in the firewall policy.
B. Traffic belongs to the root VDOM.

C. This is a security log.

D. Log severity is set to error on FortiGate.

Correct Answer: BC

QUESTION 2

Refer to the exhibit.
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Name SLA_T

Detection Mode Passive Prefer Passive

Protocol m HTTP DNS

Servers 4222 x
4.2.2.1 x

Participants All SD-WAN Members
* port1 x
™ port2 x
+
Enable probe packets (B

An administrator has configured a performance SLA on FortiGate, which failed to generate any traffic. Why is FortiGate
not sending probes to 4.2.2.2 and 4.2.2.1 servers? (Choose two.)

A. The Detection Mode setting is not set to Passive.

B. Administrator didn\\'t configure a gateway for the SD-WAN members, or configured gateway is not valid.
C. The configured participants are not SD-WAN members.

D. The Enable probe packets setting is not enabled.

Correct Answer: BD

QUESTION 3
Refer to the exhibit.

The exhibit shows a diagram of a FortiGate device connected to the network and the firewall policy and IP pool
configuration on the FortiGate device.

Two PCs, PC1 and PC2, are connected behind FortiGate and can access the internet successfully. However, when the
administrator adds a third PC to the network (PC3), the PC cannot connect to the internet.
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.'H“‘*x
PC1
18.2.1.1
[
/ ________'A port3 portl
\ f" : 18.6.1.254 192.2.8.2
PC2 A ff
_ oo / Firewall policy: IP pool:
jj {1) {internet-pool)
fiim / name: LAN-tc-Internet type: one-to-one
[ > action: accept scartip: 19£.2.0.10
P { srcaddr: 10.0.1.0/24 endip: 192.2.0.11
:'fﬁﬁﬁhhf sreintf: port3
dstaddr: 0.0.0.0/0
PC3 = dstintf: portl
10.0.1.3 service: ALL
schadule: always
nat: =nable
ippocl: enable
poclname: internet-pool

Based on the information shown in the exhibit, which three configuration changes should the administrator make to fix
the connectivity issue for PC3? (Choose three.)

A. In the IP pool configuration, set type to overload. Most Voted
B. Configure 192.2.0.12/24 as the secondary IP address on portl.
C. In the firewall policy configuration, disable ippool. Most Voted
D. In the IP pool configuration, set endip to 192.2.0.12. Most Voted

E. Configure another firewall policy that matches only the address of PC3 as source, and then place the policy on top of
the list.

Correct Answer: ACD

QUESTION 4

Refer to the exhibit.

NSE4_FGT-7.2 VCE Dumps | NSE4_FGT-7.2 Practice Test | NSE4_FGT-7.2 Exam Questions 417


https://www.geekcert.com/nse4_fgt-7-2.html
https://www.geekcert.com/nse4_fgt-7-2.html
https://www.geekcert.com/nse4_fgt-7-2.html

VCE & PDF https://lwww.geekcert.com/nse4_fgt-7-2.html
2024 Latest geekcert NSE4 FGT-7.2 PDF and VCE dumps Download

GeekCert.com

veluster 0 tart time 974 07-02 10:59:34) st: /of/chg time=2 (work)/2

(work) /15

svr failure=0, flag=

0x00
_failure=0, flag=

The exhibit displays the output of the CLI command: diagnose sys ha dump-by vcluster.
The override setting is enable for the FortiGate with SN FGVYM010000064692.

Which two statements are true? (Choose two.)

A. FortiGate SN FGVM010000065036 HA uptime has been reset.

B. FortiGate devices are not in sync because one device is down.

C. FortiGate SN FGVYM010000064692 is the primary because of higher HA uptime.

D. FortiGate SN FGVM010000064692 has the higher HA priority.

Correct Answer: AD

Study Guide

QUESTION 5

The exhibit shows the configuration for the SD-WAN member, Performance SLA, and SD-WAN Rule, as well as the
output of diagnose sys virtual-wan-link health-check.
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¥+ Create New = 7’
Interfaces = Gateway & Cost =
=] & virtual-wan-link
* ™ portl 10.200.1.254 15
® W port2 10.200.2.254 S
e & portd 10.200.3.254 5
* ™ porta 10.200.4.254 1
Name SLA_1
Detection Mode m Passive Prefer Passive
Protocol I +P Dns
Servers 4222 "
4221 ®
Participants All SD-WAN Members
™ portl x
™ port2 x
™ port3 x
™ portd b
+
Enable probe packets
SLATarget ®©
Latency threshold € 50 ms
Jitter threshold &L 5 :oms
Packet Loss threshold € 0 %

Outgoing Interfaces

Select a strategy for how outgoing interfaces will be chosen

O Manual
Manually assign outgoing interface
) Best Quality
The interface with the best measured performance is selected

® Lowest Cost (SLA)
The interface that meets SLA targets is selected. When there is a Gie, the interface with the lowest
assigned cost is selected

) Maximize Bandwidth [SLA)

Traffic is load balanced among inlérfaces that meet SLA target

Interface preference ™ portl x
= port2 x
= portd x
™ portd x
-
Required SLA target SLA_1 x
+
Forward DSCP »
Reverse DSCP »
Status [+ JIETEN © Disable
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Which interface will be selected as an outgoing interface?

A. port2

B. port3

C. port4

D. portl

Correct Answer: A

To determine the best path for traffic in Fortinet\\'s SD-WAN implementation, a "lowest cost" algorithm is used that
considers the cost metric associated with each available WAN link. In this case, Port 4 and 3 are eliminated due to
packet loss,

leaving Port 1 and Port 2 as the available paths.

The next stage of elimination is based on the highest cost. Port 1 has a high cost of 15, which makes it less desirable
than Port 2. Therefore, Port 1 is eliminated, and Port 2 is selected as the winner.
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